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Table 2. XIS spectral fitting parameters for the nonthermal rims (NE+SW1+SW2).!

Parameters thermal! + power-law thermal! + srcut
NH (cm"2) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 6.8 # 1020 (fixed)
VNEI 1 (ejecta 1)

kT (keV) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 1.2 (fixed!)
nOneV (cm"3) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 2.86 (2.45–3.06) #1052 4.19 (4.05–4.32) #1052

VNEI 2 (ejecta 2)
kT (keV) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 1.9 (fixed!)
[S=O] : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 2.7 (fixed)
nOneV (cm"3) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 8.43 (8.18–8.55) #1053 3.82 (3.77–3.89) #1053

NEI (ISM)
kT (keV) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 0.45 (fixed)
net (cm"3s) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 5.7#109 (fixed)
nHneV (cm"3) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 1.14 (1.06–1.21) #1056 3.45 (3.43–3.48) #1056

Nonthermal component
Γ="roll (—=Hz) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 2.73 (2.72–2.74) 5.69 (5.67–5.71) #1016

Norm (photons keV"1cm"2s"1 at 1 keV=Jy at 1 GHz) : : : : 4.05 (4.04–4.07) #10"2 16.2 (16.1–16.3)
Gain offset for FI (eV) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 3.9 "1.4
Gain offset for BI (eV) : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : "5.0 "4.0
#2=d.o.f. : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 2200=588 857=588

! Parentheses indicate single parameter 90% confidence regions.
! Thermal parameters are fixed following Yamaguchi et al. (2008).

Fig. 3. XIS spectra of NE (left) and SW (right) regions. Thermal and nonthermal models are represented with dotted or solid lines. Black and red
represent FI and BI spectra, respectively. The lower panels in the figures are residuals from the best-fit models.

3.1.2. NE and SW rims
We applied the thermal model plus the srcut continuum

described above to the NE and SW rim spectra separately. The
plasma parameters of the three thermal components were fixed
at the values for the nonthermal rims (see table 2), except for
normalization. The best-fit models and parameters are shown
in figure 3 and table 3, respectively. The fittings are again
statistically unacceptable (#2 = 553=338 for NE and 527=368
for SW), but they show no large-scale structure.

3.2. HXD PIN Spectra

SN 1006 is an extended source for the PIN, as shown in
figure 1. We therefore have to consider the effect of the
PIN angular response for diffuse sources. In order to esti-
mate the total efficiency for the entire SNR, we assumed that

the emission region in the PIN energy band is the same as
that of the ASCA GIS 2–7 keV image available from Data
Archives and Transmission System (DARTS)3, which covers
the entire remnant. The derived efficiency in each observation
is shown in figure 4. The discontinuities around $ 50 keV are
due to the Gd K-line back-scattered in GSO, and the enhance-
ment above 50 keV in the SW bg1 effective area is due to
the transparency of the passive shield, which becomes larger
in the higher energy band (Takahashi et al. 2007). Takahashi
et al. (2008) checked the influence of the source size on the
effective area for extended sources, and found that it has no
energy dependence. The rim observations (NE, SW1, SW2,
SE, and NW) have similar efficiency, while the background

3 See hhttp://darts.isas.jaxa.jp/astro/i.
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フィラメント

No. S1] Suzaku Observation of SN 1006 S143

As shown in figure 2, we found clear K-shell (K˛) lines
from Ar, Ca, and Fe, for the first time. With a power-law plus
Gaussian-line fit, we determined the line center energy of the
Fe-K˛ to be ! 6.43 keV. This energy constrains the Fe ioniza-
tion state to be approximately Ne-like.

3.3. Iron Line Map

We show in figure 3a an image in a relatively narrow band
(6.33–6.53 keV) that contains the Fe-K˛ line. This image was
generated by subtracting the continuum flux at energies of 6.1–
6.3 keV. (The image in this band is shown in figure 3b.)

We can see that the Fe-K˛ flux is enhanced at the
southern part of the remnant (outlined in red with a ellipse),

Fig. 2. Background-subtracted XIS spectra extracted from the whole
SE quadrant (SN 1006 SE). The black and red points represent the FI
and BI spectra, respectively.

Fig. 3. XIS intensity map at the Fe-K˛ line (a: 6.33–6.53 keV band), from which the continuum flux at 6.1–6.3 keV band [shown in (b)] is subtracted.
In both images, exposure and vignetting effects are corrected. The data from the three FIs are combined. Two corners of the calibration sources are
removed. The black squares indicate each FOVs of the XIS. The red ellipse shows the region where we extracted the spectra for a detailed analysis.

except for the NE and SW quadrants where the non-
thermal emission is dominant. The mean surface bright-
ness at 6.33–6.55 keV within the elliptical region is 8.5
(˙0.5) " 10#9 photons cm#2 s#1 arcmin#2, while that outside
it (only in the SE and NW quadrants) is 4.6 (˙0.3) " 10#9

photons cm#2 s#1 arcmin#2. In order to study the thin-thermal
spectrum with the best S/N ratio for Fe-K line, we extracted the
X-ray spectrum from within the elliptical region, excluding the
corner of the calibration sources. The background subtraction
was made in the same way as that of the full-field spectrum.
The results are given in figure 8. Hereafter, all detailed anal-
yses are made using this spectrum.

3.4. Energy and Width of the Emission Lines

In order to study the line features, we fitted the spectra
extracted from the elliptical region with a phenomenological
model; a power-law for the continuum and Gaussians for the
emission lines. The best-fit center energies and widths for the
emission lines are shown in table 1. Since the absolute energy
calibration error is ˙0.2% above 1 keV (Koyama et al. 2007),

Table 1. The center energies and widths of the emission lines.

Line Center energy$ (eV) Width! (eV)

Mg-K˛ 1338 (1337–1340) < 5.4
Si-K˛ 1815 (1813–1816) 40 (38–42)
S-K˛ 2361 (2355–2365) 60 (54–65)
Ar-K˛ 3010 (2991–3023) < 50
Ca-K˛ 3692 (3668–3724) < 57
Fe-K˛ 6430 (6409–6453) < 60

$ Errors (statistical only) are given in parentheses (see text).
! One standard deviation (1").

「すざく」 スペクトル
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Figure 2: (A and B) Gamma-ray spectra of IC 443 (A) and W44 (B) as measured with the
Fermi-LAT. Color-shaded areas bound by dashed lines denote the best-fit broadband smooth
broken power law (60 MeV to 2 GeV), gray-shaded bands show systematic errors below 2
GeV due mainly to imperfect modeling of the galactic diffuse emission. At the high-energy
end, TeV spectral data points for IC 443 from MAGIC (29) and VERITAS (30) are shown.
Solid lines denote the best-fit pion-decay gamma-ray spectra, dashed lines denote the best-fit
bremsstrahlung spectra, and dash-dotted lines denote the best-fit bremsstrahlung spectra when
including an ad hoc low-energy break at 300 MeV c−1 in the electron spectrum. These fits were
done to the Fermi LAT data alone (not taking the TeV data points into account). Magenta stars
denote measurements from the AGILE satellite for these two SNRs, taken from (31) and (19),
respectively.

陽子加速の証拠
(田中, 2013)

磁場と衝突 ⇒ 強いＸ線放射

π0 decay

ver.0



Radio Optical X-ray

(synchrotron)

The Crab Nebula

パルサー風星雲：宇宙高エネルギー粒子の加速源 (1)

http://phys.org/news/2012-03-powerhouse-crab-nebula.html

http://apod.nasa.gov/apod/ap020920.html
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Fig. 1.— Spectral energy distribution of the Crab nebula. The thin green lines de-
note the simulated synchrotron spectra of 30 realizations. The thick blue line denote

the fit to the multi-wavelength steady state observational data, which can be under-
stood as the average result of many realizations in our model. The black-dashed curve
denotes the contribution from a maximum size knot with slightly specific parameters

(see the text), which is shown to be able to explain the large flare in September 2010.
The references of the observational data are: radio-optical (Maćıas-Pérez et al. 2010),

INTEGRAL (Jourdain & Roques 2009), COMPTEL (Kuiper et al. 2001), Fermi/LAT
(Abdo et al. 2010b), MAGIC (Albert et al. 2008), HEGRA (Aharonian et al. 2004), HESS

(Aharonian et al. 2006), Tibet-ASγ (Amenomori et al. 2009), and Fermi/LAT flares
(Abdo et al. 2010a).

can be regarded as an event with very small probability. Such an event may be due to a large
knot with specific parameters different from what used in the model. The black-dashed line
in Fig. 1 shows a possible reproduction of the large flare, produced by a knot with maximum

size, Doppler factor δ = 5.5, cutoff energy of synchrotron radiation in its comoving system
70 MeV and an additional normalization factor 0.2 of the flux. Detailed modeling of the

knot formation and its evolution is expected to better address this issue.

We pick out two realizations and show the synchrotron sky-maps at 10 keV (left) and

100 MeV (right) in Fig. 2, respectively. To generate a sky-map, we designate an x− y plane
with 50 × 50 pixels. We randomly assign a position for each knot in the x − y plane, with

the largest knot having a size of 5× 5 pixels. We then sum up contributions of all the knots
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パルサー風星雲：宇宙高エネルギー粒子の加速源 (2)

arXiv:1012.1395v2  [astro-ph.HE]  16 Feb 2011
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第11章 非熱的宇宙 – The Extreme Universe – の
発見

X線などの高エネルギー観測により高温プラズマが発見され、従来の冷たい宇宙観は書き換えられた。これを”The

Hot Universe”と呼ぼう。これは、基本的には重力によって得られたエネルギーが準静的な平衡状態に落ちた時の状態で
ある。重力がエネルギー源である以上、粒子エネルギーは重力で得られるエネルギーを越えることはできない。
最大のエネルギーを得られる重力系はもちろんブラックホールであり、その最大エネルギーは静止質量の 1/2であっ

た。すなわち、

Ep <
1

2
mpc

2 =
1

2
938MeV(11.1)

である。つまり、”Hot Universe”では kT ∼ 500MeV を越えることはないのである。
しかし実際には、超新星残骸でのシンクロトロン X線やコンプトンガンマ線、高速回転するブラックホールから放射

される鋭く絞られた宇宙ジェット、そして宇宙線の観測からそれをはるかに越える超高エネルギー粒子を持つ粒子が次々
発見された。これは重力では説明できない。
これは、大多数の粒子が持つエネルギーを少数の粒子に集中させることによる。そのメカニズムは磁場と運動による

加速メカニズムが働いているものと考えられる。これを我々は、21世紀の宇宙観”The Extreme Universe”と呼びたい。
これより以下の章では、その非熱的宇宙 – The Extreme Universe – を述べて行こう。
(地上の加速器の種類や効率の紹介、宇宙の加速器としてのパルサー、SNR、BLAZARなどの紹介と可能なら種類分

けを書く)



宇宙線

GeV TeV EeVPeV
scienceandreason.blogspot.com

もしこの粒子が1g
あれば世界のエネル
ギーを1000年分まか
なえる．

こんな高エネル
ギー粒子はどこ
で作られる？
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作られた

超新星残骸は
ここまで

 8

ver.0



白鳥座A

50万光年

超巨大ブラックホール
（太陽の100万倍から10億倍）

(Credit: X-ray: NASA/CXC/SAO; Optical: NASA/STScI; Radio: NSF/NRAO/AUI/VLA)

http://chandra.harvard.edu/photo/2015/iyl/more.html
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Blazar: ブラックホールからのジェット

Fig. 3: Broad-band emission spectrum of PKS 2155-304, with simultaneous measurements in the optical band from 
the ATOM telescope, in the X-ray band by RXTE and Swift, in the high energy band by Fermi, and at very high 
energies by H.E.S.S. The red band corresponds to Fermi observations during the joint campaign (MJD 54704-54715), 
the black data points cover an enlarged time frame (MJD 54682-54743). Grey bands are archival EGRET data. The 
full line illustrates the spectrum obtained with a synchrotron self-Compton (SSC) model. The red and blue dashed 
lines indicate the spectra obtained when electrons above high (red) and very high (blue) energies are omitted, 
illustrating that in this model highest-energy electrons are responsible for X-ray emission, but contribute little to 
emission in the Fermi and H.E.S.S. bands. 

PKS 2155-304
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図 11.4: スピンするブラックホールと宇宙ジェット

図 11.5: 誘導起電力と観測されている粒子エネルギー



衝撃波静止系
上流の速度の大きな散
乱体と正面衝突する

下流に飛ぶ

下流の速度の小さな
散乱体に追突する

上流に飛ぶ

・
・

超音速 亜音速

Fermi加速
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ビーミング(1)

12.6. ビーミング 203

4元座標の定義。

x ≡ (x0, x1, x2, x3) ≡ (ct, x⃗)(12.46)

4元ベクトル a、bの内積はスカラー量なので、どの系から見ても同じ量を持つ (ローレンツ不変量)。4元ベクトルの
内積 (確認する必要あり)。

a · b ≡ aµbµ ≡ a0b0 + a1b1 + a2b2 + a3b3 = a0b0 − a⃗ · b⃗(12.47)

粒子の 4元運動量を次のように定義する。

p ≡ (p0, p1, p2, p3) ≡ (E/c, px, py, pz) ≡ (E/c, p⃗)(12.48)

自身の内積はローレンツ不変量なので、

p · p = p2 = (E/c)2 − p⃗2 ≡ m2c2(12.49)

mを静止質量と呼ぶ。

E =
√

p⃗2c2 +m2c4(12.50)

K = E −mc2(12.51)

E ≃ mc2 +
p⃗2

2m
(at |p⃗|≪ mc)(12.52)

E ≃ |p⃗|c (at |p⃗|≫ mc)(12.53)

β ≡ v/c, γ ≡ 1√
1− β2

(12.54)

E = γmc2, |p⃗| = γβmc(12.55)

β =
|p|c
E

, βγ =
|p|
mc

, γ =
E

mc2
(12.56)

粒子と θをなす方向を V で進む系が見るこの粒子の全エネルギーは E′ は、次のように書ける。

β = V/c, γ =
1√

1 + β2
(12.57)

E′/c = γ(E/c− βp cos θ)(12.58)

ただしここでは β、γ は、粒子ではなく座標系の方で定義されていることに注意。

12.6 ビーミング
速度 V = βcで進む物体を進行方向と θをなす角度から観測する場合を考える (図 12.6)。放射源の固有系で測定した

周波数を νs、観測者の系で測定した周波数を νobs、ローレンツ変換より

V = βc, γ =
1√

1− β2
(12.59)

νs = γ(νobs − βνobs cos θobs)(12.60)

νobs = νsδ(12.61)

δ ≡ 1

γ(1− β cos θobs)
=

√
1− β2

1− β cos θobs
(12.62)

と書ける。δはビーミング因子と呼ばれるものである。γ はビーミングする物体固有の値であるのに対し、δは見掛けの
値である。一方、時間は周波数の逆数なので、放射源での時間間隔∆ts と観測者での時間間隔∆tobs は

∆tobs = ∆ts/δ(12.63)

12.6. ビーミング 203

4元座標の定義。

x ≡ (x0, x1, x2, x3) ≡ (ct, x⃗)(12.46)

4元ベクトル a、bの内積はスカラー量なので、どの系から見ても同じ量を持つ (ローレンツ不変量)。4元ベクトルの
内積 (確認する必要あり)。

a · b ≡ aµbµ ≡ a0b0 + a1b1 + a2b2 + a3b3 = a0b0 − a⃗ · b⃗(12.47)

粒子の 4元運動量を次のように定義する。

p ≡ (p0, p1, p2, p3) ≡ (E/c, px, py, pz) ≡ (E/c, p⃗)(12.48)

自身の内積はローレンツ不変量なので、

p · p = p2 = (E/c)2 − p⃗2 ≡ m2c2(12.49)

mを静止質量と呼ぶ。

E =
√

p⃗2c2 +m2c4(12.50)

K = E −mc2(12.51)

E ≃ mc2 +
p⃗2

2m
(at |p⃗|≪ mc)(12.52)

E ≃ |p⃗|c (at |p⃗|≫ mc)(12.53)

β ≡ v/c, γ ≡ 1√
1− β2

(12.54)

E = γmc2, |p⃗| = γβmc(12.55)

β =
|p|c
E

, βγ =
|p|
mc

, γ =
E

mc2
(12.56)

粒子と θをなす方向を V で進む系が見るこの粒子の全エネルギーは E′ は、次のように書ける。

β = V/c, γ =
1√

1 + β2
(12.57)

E′/c = γ(E/c− βp cos θ)(12.58)

ただしここでは β、γ は、粒子ではなく座標系の方で定義されていることに注意。

12.6 ビーミング
速度 V = βcで進む物体を進行方向と θをなす角度から観測する場合を考える (図 12.6)。放射源の固有系で測定した

周波数を νs、観測者の系で測定した周波数を νobs、ローレンツ変換より

V = βc, γ =
1√

1− β2
(12.59)

νs = γ(νobs − βνobs cos θobs)(12.60)

νobs = νsδ(12.61)

δ ≡ 1

γ(1− β cos θobs)
=

√
1− β2

1− β cos θobs
(12.62)

と書ける。δはビーミング因子と呼ばれるものである。γ はビーミングする物体固有の値であるのに対し、δは見掛けの
値である。一方、時間は周波数の逆数なので、放射源での時間間隔∆ts と観測者での時間間隔∆tobs は

∆tobs = ∆ts/δ(12.63)

12.6. ビーミング 203

4元座標の定義。

x ≡ (x0, x1, x2, x3) ≡ (ct, x⃗)(12.46)

4元ベクトル a、bの内積はスカラー量なので、どの系から見ても同じ量を持つ (ローレンツ不変量)。4元ベクトルの
内積 (確認する必要あり)。

a · b ≡ aµbµ ≡ a0b0 + a1b1 + a2b2 + a3b3 = a0b0 − a⃗ · b⃗(12.47)

粒子の 4元運動量を次のように定義する。

p ≡ (p0, p1, p2, p3) ≡ (E/c, px, py, pz) ≡ (E/c, p⃗)(12.48)

自身の内積はローレンツ不変量なので、

p · p = p2 = (E/c)2 − p⃗2 ≡ m2c2(12.49)

mを静止質量と呼ぶ。

E =
√

p⃗2c2 +m2c4(12.50)

K = E −mc2(12.51)

E ≃ mc2 +
p⃗2

2m
(at |p⃗|≪ mc)(12.52)

E ≃ |p⃗|c (at |p⃗|≫ mc)(12.53)

β ≡ v/c, γ ≡ 1√
1− β2

(12.54)

E = γmc2, |p⃗| = γβmc(12.55)

β =
|p|c
E

, βγ =
|p|
mc

, γ =
E

mc2
(12.56)

粒子と θをなす方向を V で進む系が見るこの粒子の全エネルギーは E′ は、次のように書ける。

β = V/c, γ =
1√

1 + β2
(12.57)

E′/c = γ(E/c− βp cos θ)(12.58)

ただしここでは β、γ は、粒子ではなく座標系の方で定義されていることに注意。

12.6 ビーミング
速度 V = βcで進む物体を進行方向と θをなす角度から観測する場合を考える (図 12.6)。放射源の固有系で測定した

周波数を νs、観測者の系で測定した周波数を νobs、ローレンツ変換より

V = βc, γ =
1√

1− β2
(12.59)

νs = γ(νobs − βνobs cos θobs)(12.60)

νobs = νsδ(12.61)

δ ≡ 1

γ(1− β cos θobs)
=

√
1− β2

1− β cos θobs
(12.62)

と書ける。δはビーミング因子と呼ばれるものである。γ はビーミングする物体固有の値であるのに対し、δは見掛けの
値である。一方、時間は周波数の逆数なので、放射源での時間間隔∆ts と観測者での時間間隔∆tobs は

∆tobs = ∆ts/δ(12.63)

12.6. ビーミング 203

4元座標の定義。

x ≡ (x0, x1, x2, x3) ≡ (ct, x⃗)(12.46)

4元ベクトル a、bの内積はスカラー量なので、どの系から見ても同じ量を持つ (ローレンツ不変量)。4元ベクトルの
内積 (確認する必要あり)。

a · b ≡ aµbµ ≡ a0b0 + a1b1 + a2b2 + a3b3 = a0b0 − a⃗ · b⃗(12.47)

粒子の 4元運動量を次のように定義する。

p ≡ (p0, p1, p2, p3) ≡ (E/c, px, py, pz) ≡ (E/c, p⃗)(12.48)

自身の内積はローレンツ不変量なので、

p · p = p2 = (E/c)2 − p⃗2 ≡ m2c2(12.49)

mを静止質量と呼ぶ。

E =
√

p⃗2c2 +m2c4(12.50)

K = E −mc2(12.51)

E ≃ mc2 +
p⃗2

2m
(at |p⃗|≪ mc)(12.52)

E ≃ |p⃗|c (at |p⃗|≫ mc)(12.53)

β ≡ v/c, γ ≡ 1√
1− β2

(12.54)

E = γmc2, |p⃗| = γβmc(12.55)

β =
|p|c
E

, βγ =
|p|
mc

, γ =
E

mc2
(12.56)

粒子と θをなす方向を V で進む系が見るこの粒子の全エネルギーは E′ は、次のように書ける。

β = V/c, γ =
1√

1 + β2
(12.57)

E′/c = γ(E/c− βp cos θ)(12.58)

ただしここでは β、γ は、粒子ではなく座標系の方で定義されていることに注意。

12.6 ビーミング
速度 V = βcで進む物体を進行方向と θをなす角度から観測する場合を考える (図 12.6)。放射源の固有系で測定した

周波数を νs、観測者の系で測定した周波数を νobs、ローレンツ変換より

V = βc, γ =
1√

1− β2
(12.59)

νs = γ(νobs − βνobs cos θobs)(12.60)

νobs = νsδ(12.61)

δ ≡ 1

γ(1− β cos θobs)
=

√
1− β2

1− β cos θobs
(12.62)

と書ける。δはビーミング因子と呼ばれるものである。γ はビーミングする物体固有の値であるのに対し、δは見掛けの
値である。一方、時間は周波数の逆数なので、放射源での時間間隔∆ts と観測者での時間間隔∆tobs は

∆tobs = ∆ts/δ(12.63)

12.6. ビーミング 203

4元座標の定義。

x ≡ (x0, x1, x2, x3) ≡ (ct, x⃗)(12.46)

4元ベクトル a、bの内積はスカラー量なので、どの系から見ても同じ量を持つ (ローレンツ不変量)。4元ベクトルの
内積 (確認する必要あり)。

a · b ≡ aµbµ ≡ a0b0 + a1b1 + a2b2 + a3b3 = a0b0 − a⃗ · b⃗(12.47)

粒子の 4元運動量を次のように定義する。

p ≡ (p0, p1, p2, p3) ≡ (E/c, px, py, pz) ≡ (E/c, p⃗)(12.48)

自身の内積はローレンツ不変量なので、

p · p = p2 = (E/c)2 − p⃗2 ≡ m2c2(12.49)

mを静止質量と呼ぶ。

E =
√

p⃗2c2 +m2c4(12.50)

K = E −mc2(12.51)

E ≃ mc2 +
p⃗2

2m
(at |p⃗|≪ mc)(12.52)

E ≃ |p⃗|c (at |p⃗|≫ mc)(12.53)

β ≡ v/c, γ ≡ 1√
1− β2

(12.54)

E = γmc2, |p⃗| = γβmc(12.55)

β =
|p|c
E

, βγ =
|p|
mc

, γ =
E

mc2
(12.56)

粒子と θをなす方向を V で進む系が見るこの粒子の全エネルギーは E′ は、次のように書ける。

β = V/c, γ =
1√

1 + β2
(12.57)

E′/c = γ(E/c− βp cos θ)(12.58)

ただしここでは β、γ は、粒子ではなく座標系の方で定義されていることに注意。

12.6 ビーミング
速度 V = βcで進む物体を進行方向と θをなす角度から観測する場合を考える (図 12.6)。放射源の固有系で測定した

周波数を νs、観測者の系で測定した周波数を νobs、ローレンツ変換より

V = βc, γ =
1√

1− β2
(12.59)

νs = γ(νobs − βνobs cos θobs)(12.60)

νobs = νsδ(12.61)

δ ≡ 1

γ(1− β cos θobs)
=

√
1− β2

1− β cos θobs
(12.62)

と書ける。δはビーミング因子と呼ばれるものである。γ はビーミングする物体固有の値であるのに対し、δは見掛けの
値である。一方、時間は周波数の逆数なので、放射源での時間間隔∆ts と観測者での時間間隔∆tobs は

∆tobs = ∆ts/δ(12.63)

12.6. ビーミング 203

4元座標の定義。

x ≡ (x0, x1, x2, x3) ≡ (ct, x⃗)(12.46)

4元ベクトル a、bの内積はスカラー量なので、どの系から見ても同じ量を持つ (ローレンツ不変量)。4元ベクトルの
内積 (確認する必要あり)。

a · b ≡ aµbµ ≡ a0b0 + a1b1 + a2b2 + a3b3 = a0b0 − a⃗ · b⃗(12.47)

粒子の 4元運動量を次のように定義する。

p ≡ (p0, p1, p2, p3) ≡ (E/c, px, py, pz) ≡ (E/c, p⃗)(12.48)

自身の内積はローレンツ不変量なので、

p · p = p2 = (E/c)2 − p⃗2 ≡ m2c2(12.49)

mを静止質量と呼ぶ。

E =
√

p⃗2c2 +m2c4(12.50)

K = E −mc2(12.51)

E ≃ mc2 +
p⃗2

2m
(at |p⃗|≪ mc)(12.52)

E ≃ |p⃗|c (at |p⃗|≫ mc)(12.53)

β ≡ v/c, γ ≡ 1√
1− β2

(12.54)

E = γmc2, |p⃗| = γβmc(12.55)

β =
|p|c
E

, βγ =
|p|
mc

, γ =
E

mc2
(12.56)

粒子と θをなす方向を V で進む系が見るこの粒子の全エネルギーは E′ は、次のように書ける。

β = V/c, γ =
1√

1 + β2
(12.57)

E′/c = γ(E/c− βp cos θ)(12.58)

ただしここでは β、γ は、粒子ではなく座標系の方で定義されていることに注意。

12.6 ビーミング
速度 V = βcで進む物体を進行方向と θをなす角度から観測する場合を考える (図 12.6)。放射源の固有系で測定した

周波数を νs、観測者の系で測定した周波数を νobs、ローレンツ変換より

V = βc, γ =
1√

1− β2
(12.59)

νs = γ(νobs − βνobs cos θobs)(12.60)

νobs = νsδ(12.61)

δ ≡ 1

γ(1− β cos θobs)
=

√
1− β2

1− β cos θobs
(12.62)

と書ける。δはビーミング因子と呼ばれるものである。γ はビーミングする物体固有の値であるのに対し、δは見掛けの
値である。一方、時間は周波数の逆数なので、放射源での時間間隔∆ts と観測者での時間間隔∆tobs は

∆tobs = ∆ts/δ(12.63)

12.6. ビーミング 203

4元座標の定義。

x ≡ (x0, x1, x2, x3) ≡ (ct, x⃗)(12.46)

4元ベクトル a、bの内積はスカラー量なので、どの系から見ても同じ量を持つ (ローレンツ不変量)。4元ベクトルの
内積 (確認する必要あり)。

a · b ≡ aµbµ ≡ a0b0 + a1b1 + a2b2 + a3b3 = a0b0 − a⃗ · b⃗(12.47)

粒子の 4元運動量を次のように定義する。

p ≡ (p0, p1, p2, p3) ≡ (E/c, px, py, pz) ≡ (E/c, p⃗)(12.48)

自身の内積はローレンツ不変量なので、

p · p = p2 = (E/c)2 − p⃗2 ≡ m2c2(12.49)

mを静止質量と呼ぶ。

E =
√

p⃗2c2 +m2c4(12.50)

K = E −mc2(12.51)

E ≃ mc2 +
p⃗2

2m
(at |p⃗|≪ mc)(12.52)

E ≃ |p⃗|c (at |p⃗|≫ mc)(12.53)

β ≡ v/c, γ ≡ 1√
1− β2

(12.54)

E = γmc2, |p⃗| = γβmc(12.55)

β =
|p|c
E

, βγ =
|p|
mc

, γ =
E

mc2
(12.56)

粒子と θをなす方向を V で進む系が見るこの粒子の全エネルギーは E′ は、次のように書ける。

β = V/c, γ =
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(12.57)

E′/c = γ(E/c− βp cos θ)(12.58)

ただしここでは β、γ は、粒子ではなく座標系の方で定義されていることに注意。
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と書ける。δはビーミング因子と呼ばれるものである。γ はビーミングする物体固有の値であるのに対し、δは見掛けの
値である。一方、時間は周波数の逆数なので、放射源での時間間隔∆ts と観測者での時間間隔∆tobs は

∆tobs = ∆ts/δ(12.63)
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となる。つまり、放射が放射源で 1秒間続いたとすると、観測者では 1/δ秒間に圧縮されて観測されることになる。
δは θの関数である。よって、同じ放射源を観測しても真正面および後方から観測した場合はそれぞれ

δ(head− on) =

√
1 + β

1− β
(12.64)

δ(tail− on) =

√
1− β

1 + β
(12.65)

となる。同じ放射源からの光子を見ても、見る方向によって見え方が違うと言うことである。
さらに、放射源の固有系で放射される光子の方向 θs と、観測者の方向 θには次の関係がある。

cos θs =
cos θobs − β

1− β cos θobs
(12.66)

その結果、放射源での立体角∆Ωs = 2π∆ cos θs の範囲で放射された光は、

∆Ωobs = ∆Ωs/δ
2(12.67)

の狭い範囲に集中することになる。
つまり、放射源では等方に放出していても、観測者の系では放射源の進行方向に集中することとなる。集中する角度

を求める。

cos θobs =
cos θs + β

1 + β cos θs
(12.68)

なので、

θs =
π

2
(12.69)

ならば、

cos θobs = β(12.70)

である。よって、

sin θobs =
√
1− β2 =

1

γ
(12.71)

となる。つまりおおっざっぱに言って光子は θobs < 1/γ に集中すると考えて良い。これをビーミングと呼ぶ。
放射源でも観測者でも光子数は保存される。放射源は、放射源の系で等方に単一周波数 νs で光度 Ls を δts 間放射し

た光子数と、観測者での光子数を比較すると、観測者と放射源の距離をDとし、観測者の受けるエネルギーフラックス
と光子の周波数を Fobs、νobs とすると

Ls

νs
∆ts

∆Ωs

4π
=

Fobs

νobs
D2∆Ωobs∆tobs(12.72)

Fobs =
νobs
νs

∆ts
∆tobs

∆Ωs

∆Ωobs

Ls

4πD2
= δ4

Ls

4πD2
(12.73)

となる。つまり、ビーミング因子 δ の 4乗に比例する。内訳は、上で示した通り光子の周波数が δ 倍、立体角が δ2 倍、
さらに時間の圧縮により光子が一度に δ倍に来る。一方で、例えばフレアの持続時間は 1/δに短くなるので、フレアな
どのイベントを時間積分した総エネルギーの場合には δの 3乗となる。
上は、δ 関数的なスペクトルを仮定した。つまり、全スペクトルを積分した光度での比較と考えられる。一般的には

スペクトルには幅がある。スペクトルの中心値がビーミングにより高い周波数に移ると同時に、その幅は δほど広がる。
よって、単位立体角、単位周波数当たりの Specific Intensityで比較する場合は、周波数幅のことを考えて、

Sobs(ν) = δ3Ss(ν)[ergs/sec · cm2 ·Hz · str](12.74)
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上は、δ 関数的なスペクトルを仮定した。つまり、全スペクトルを積分した光度での比較と考えられる。一般的には
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となる。つまり、放射が放射源で 1秒間続いたとすると、観測者では 1/δ秒間に圧縮されて観測されることになる。
δは θの関数である。よって、同じ放射源を観測しても真正面および後方から観測した場合はそれぞれ

δ(head− on) =

√
1 + β

1− β
(12.64)

δ(tail− on) =

√
1− β

1 + β
(12.65)

となる。同じ放射源からの光子を見ても、見る方向によって見え方が違うと言うことである。
さらに、放射源の固有系で放射される光子の方向 θs と、観測者の方向 θには次の関係がある。

cos θs =
cos θobs − β

1− β cos θobs
(12.66)

その結果、放射源での立体角∆Ωs = 2π∆ cos θs の範囲で放射された光は、

∆Ωobs = ∆Ωs/δ
2(12.67)

の狭い範囲に集中することになる。
つまり、放射源では等方に放出していても、観測者の系では放射源の進行方向に集中することとなる。集中する角度

を求める。

cos θobs =
cos θs + β

1 + β cos θs
(12.68)

なので、

θs =
π

2
(12.69)

ならば、

cos θobs = β(12.70)

である。よって、

sin θobs =
√
1− β2 =

1

γ
(12.71)

となる。つまりおおっざっぱに言って光子は θobs < 1/γ に集中すると考えて良い。これをビーミングと呼ぶ。
放射源でも観測者でも光子数は保存される。放射源は、放射源の系で等方に単一周波数 νs で光度 Ls を δts 間放射し

た光子数と、観測者での光子数を比較すると、観測者と放射源の距離をDとし、観測者の受けるエネルギーフラックス
と光子の周波数を Fobs、νobs とすると

Ls

νs
∆ts

∆Ωs

4π
=

Fobs

νobs
D2∆Ωobs∆tobs(12.72)

Fobs =
νobs
νs

∆ts
∆tobs

∆Ωs

∆Ωobs

Ls

4πD2
= δ4

Ls

4πD2
(12.73)

となる。つまり、ビーミング因子 δ の 4乗に比例する。内訳は、上で示した通り光子の周波数が δ 倍、立体角が δ2 倍、
さらに時間の圧縮により光子が一度に δ倍に来る。一方で、例えばフレアの持続時間は 1/δに短くなるので、フレアな
どのイベントを時間積分した総エネルギーの場合には δの 3乗となる。
上は、δ 関数的なスペクトルを仮定した。つまり、全スペクトルを積分した光度での比較と考えられる。一般的には

スペクトルには幅がある。スペクトルの中心値がビーミングにより高い周波数に移ると同時に、その幅は δほど広がる。
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4元座標の定義。

x ≡ (x0, x1, x2, x3) ≡ (ct, x⃗)(12.46)

4元ベクトル a、bの内積はスカラー量なので、どの系から見ても同じ量を持つ (ローレンツ不変量)。4元ベクトルの
内積 (確認する必要あり)。

a · b ≡ aµbµ ≡ a0b0 + a1b1 + a2b2 + a3b3 = a0b0 − a⃗ · b⃗(12.47)

粒子の 4元運動量を次のように定義する。

p ≡ (p0, p1, p2, p3) ≡ (E/c, px, py, pz) ≡ (E/c, p⃗)(12.48)

自身の内積はローレンツ不変量なので、

p · p = p2 = (E/c)2 − p⃗2 ≡ m2c2(12.49)

mを静止質量と呼ぶ。

E =
√

p⃗2c2 +m2c4(12.50)

K = E −mc2(12.51)

E ≃ mc2 +
p⃗2

2m
(at |p⃗|≪ mc)(12.52)

E ≃ |p⃗|c (at |p⃗|≫ mc)(12.53)

β ≡ v/c, γ ≡ 1√
1− β2

(12.54)

E = γmc2, |p⃗| = γβmc(12.55)

β =
|p|c
E

, βγ =
|p|
mc

, γ =
E

mc2
(12.56)

粒子と θをなす方向を V で進む系が見るこの粒子の全エネルギーは E′ は、次のように書ける。

β = V/c, γ =
1√

1 + β2
(12.57)

E′/c = γ(E/c− βp cos θ)(12.58)

ただしここでは β、γ は、粒子ではなく座標系の方で定義されていることに注意。

12.6 ビーミング
速度 V = βcで進む物体を進行方向と θをなす角度から観測する場合を考える (図 12.6)。放射源の固有系で測定した

周波数を νs、観測者の系で測定した周波数を νobs、ローレンツ変換より

V = βc, γ =
1√

1− β2
(12.59)

νs = γ(νobs − βνobs cos θobs)(12.60)

νobs = νsδ(12.61)

δ ≡ 1

γ(1− β cos θobs)
=

√
1− β2

1− β cos θobs
(12.62)

と書ける。δはビーミング因子と呼ばれるものである。γ はビーミングする物体固有の値であるのに対し、δは見掛けの
値である。一方、時間は周波数の逆数なので、放射源での時間間隔∆ts と観測者での時間間隔∆tobs は

∆tobs = ∆ts/δ(12.63)
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となる。
これは、Phase Spaceの要素が Lorentz Invariantであることから導かれる

S(ν′)

ν′3
=

S(ν)

ν3
, ν = δν′(12.75)

と一致する。
以下に示す通り、ガンマ線バースト (δ = 103)、BLASAR(γ ∼ 10)、電波銀河 (γ ∼ several)などでビーミングが観測

されている。

θs
θobs v

放射源の系

Observer

Lorentz

観測者の系

θ～1/γ
Lorentz

図 12.6: ビーミング
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となる。つまり、ビーミング因子 δ の 4乗に比例する。内訳は、上で示した通り光子の周波数が δ 倍、立体角が δ2 倍、
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どのイベントを時間積分した総エネルギーの場合には δの 3乗となる。
上は、δ 関数的なスペクトルを仮定した。つまり、全スペクトルを積分した光度での比較と考えられる。一般的には

スペクトルには幅がある。スペクトルの中心値がビーミングにより高い周波数に移ると同時に、その幅は δほど広がる。
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∆Ωobs = ∆Ωs/δ
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の狭い範囲に集中することになる。
つまり、放射源では等方に放出していても、観測者の系では放射源の進行方向に集中することとなる。集中する角度
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となる。つまりおおっざっぱに言って光子は θobs < 1/γ に集中すると考えて良い。これをビーミングと呼ぶ。
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となる。つまりおおっざっぱに言って光子は θobs < 1/γ に集中すると考えて良い。これをビーミングと呼ぶ。
放射源でも観測者でも光子数は保存される。放射源は、放射源の系で等方に単一周波数 νs で光度 Ls を δts 間放射し

た光子数と、観測者での光子数を比較すると、観測者と放射源の距離をDとし、観測者の受けるエネルギーフラックス
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となる。つまり、ビーミング因子 δ の 4乗に比例する。内訳は、上で示した通り光子の周波数が δ 倍、立体角が δ2 倍、
さらに時間の圧縮により光子が一度に δ倍に来る。一方で、例えばフレアの持続時間は 1/δに短くなるので、フレアな
どのイベントを時間積分した総エネルギーの場合には δの 3乗となる。
上は、δ 関数的なスペクトルを仮定した。つまり、全スペクトルを積分した光度での比較と考えられる。一般的には

スペクトルには幅がある。スペクトルの中心値がビーミングにより高い周波数に移ると同時に、その幅は δほど広がる。
よって、単位立体角、単位周波数当たりの Specific Intensityで比較する場合は、周波数幅のことを考えて、

Sobs(ν) = δ3Ss(ν)[ergs/sec · cm2 ·Hz · str](12.74)
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となる。つまり、放射が放射源で 1秒間続いたとすると、観測者では 1/δ秒間に圧縮されて観測されることになる。
δは θの関数である。よって、同じ放射源を観測しても真正面および後方から観測した場合はそれぞれ

δ(head− on) =

√
1 + β

1− β
(12.64)

δ(tail− on) =

√
1− β

1 + β
(12.65)

となる。同じ放射源からの光子を見ても、見る方向によって見え方が違うと言うことである。
さらに、放射源の固有系で放射される光子の方向 θs と、観測者の方向 θには次の関係がある。

cos θs =
cos θobs − β

1− β cos θobs
(12.66)

その結果、放射源での立体角∆Ωs = 2π∆ cos θs の範囲で放射された光は、

∆Ωobs = ∆Ωs/δ
2(12.67)

の狭い範囲に集中することになる。
つまり、放射源では等方に放出していても、観測者の系では放射源の進行方向に集中することとなる。集中する角度

を求める。

cos θobs =
cos θs + β

1 + β cos θs
(12.68)

なので、

θs =
π

2
(12.69)

ならば、

cos θobs = β(12.70)

である。よって、

sin θobs =
√
1− β2 =

1

γ
(12.71)

となる。つまりおおっざっぱに言って光子は θobs < 1/γ に集中すると考えて良い。これをビーミングと呼ぶ。
放射源でも観測者でも光子数は保存される。放射源は、放射源の系で等方に単一周波数 νs で光度 Ls を δts 間放射し
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となる。
これは、Phase Spaceの要素が Lorentz Invariantであることから導かれる

S(ν′)

ν′3
=

S(ν)

ν3
, ν = δν′(12.75)

と一致する。
以下に示す通り、ガンマ線バースト (δ = 103)、BLASAR(γ ∼ 10)、電波銀河 (γ ∼ several)などでビーミングが観測

されている。
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